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What does Lemon Brown teach Greg in the story? Explain. Give

4.

information from the story to support your answer.

(15 points)
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For this question, choose ONE of the thinking skills from the Appendix

thinking skill when answering the question. (10 points for the content
Thinking SKill I ChOSE: .....ceevviiiiiiiniieeeeeeeee e

(nov) on page 10 OR any thinking skill studied in class. Use this
of the answer, 5 points for the correct use of the thinking skill)

Mrs. Jones tells Roger that he should not steal. What else does she
want Roger to learn about life? Give information from the story to
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Use this page and the next (pages 7-8) for writing a rough draft.
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Write your final version here:
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